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Topic: Chemistry-Section A

Iltem No: 66

Question ID: 1569466

Question Type: | MCQ

Question: Be. B. N %3 0 91 Ufg&@ wiialaas wat s 1 Targom 76 |
A: O<N<B<Be
B Be<B<N<O
C: B<Be<N<O
D B<Be<O<N
Topic: Chemistry-Section A
Item No: 67
Question ID: 1569467
Question Type: | MCQ
J51 ¥ 986 3 IR U4

FEE I F9 S (U1 ofeg®)yris de7 J 7 e »ifeds § AddY WiTeds
&% JIgH 98 3

Question: a:a?;ﬁn: 33 B wifeas) g I »ifeds @ Hores I198s ot HiSarufe
RER]
Sudas Faat @ wg <3 T3 OF feamyi fod 7g I 29t B33 5|

A: FES I W3 T8 11 22 Adl I& |

B: FHS [ %2 JES [1 < di&3 I5 |




FH& [ Adl J Ud F8& 11 I1%3

D: FEE 1 %3 J Ud 9898 [1 A J
Topic: Chemistry-Section A
Iltem No: 68

Question ID: 1569468

Question Type: | MCQ

Question: §9 HU(>99.95%) H@Q‘Hﬁ%ﬂ@ﬁ

A: i 9 78 wBIE 578 fdfgnf Fgage 3

B: S Ul T USIaH fTaaeTs 3 Had viuuwes a%

C: I19H T8 9 TEiaels WS faas frdacs feu fanel viuwes 3
D: e T 9% 31" &8 Y3idignf -3

Topic: Chemistry-Section A

Item No: 69

Question ID: 1569469

Question Type: | MCQ

Question: WSS T HI FH I
A Be>=Mg=Ca=>Sr
B sr=Ca>Mg=>Be
C: Sr>Be>Mg > Ca

D Be=5r>Mg=Ca
Topic: Chemistry-Section A
Item No: 70

Question ID: 1569470

Question Type: | MCQ

Jot 751 g €9 oS farest 3amt wamreis 96

Question: NO. N,0. B,0s3. N,O5, CO, $05. P,01p
A: 3

B: 4

C: 5

D: 6

Topic: Chemistry-Section A

Item No: 71




Question ID: 1569471
Question Type: | MCQ
Question: J&1 I3 T3 S aH G < HYT T A gH J
A: [Ni(en);]*". B : [Ni(NH;)6]*". C : [Ni(H,0)6]*
A C<B<A
B: B=<C<A
C: CXA<XB
D: A<C<B
Topic: Chemistry-Section A
Item No: 72
Question ID: 1569472
Question Type: | MCQ
Hot1 w3 gal 1 § THa'G
HO 1 Het 11
A ABET I SigHd
Question: B. S&JES 11 ISt Y3a BEt
c. faadta 111 U¢ A'S Jda 1 ygie
D. HEH F1d98¢ IV. JgEAEs
It i3 9 feamyi &9 Adt @39 91
A A-IL B-III. C-IV. D-I
B: A-IV. B-IIL. C-II. D-I
C: A-IIL B-II. C-1. D-IV
D: A-TIL B-II. C-IV. D-I
Topic: Chemistry-Section A
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Question ID: 1569473
Question Type: | MCQ




J&t St yStafgner & iy Qua et

Question: 4\[1/0\/'% 2 HBr
0
Br
)\[]/O\NBr
A:
0]
Br Br
B: /j\n/O\/\
O
Br Br
C:
O
Br
D: Br \W
O
Topic: Chemistry-Section A
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Question ID: 1569474
Question Type: | MCQ
Jot i3t ySiafann @ iy GuR el d
Question: y_ oI
H-0
0
O
A:
T
0 OH
B:
H
0 0
C:
H
O
D:
H/U\’/)\




Topic: Chemistry-Section A
Item No: 75
Question ID: 1569475
Question Type: | MCQ

Jot fd3 { ules sl Sa3 © g e JuI.

OH OH OH OH
Question: @ le\
¢ NO, OCH;
NO, OCH,4
(A) (B) (C) (D)

A: AB>C>D
B: B=A>C>D
C: D=C=A=>B
D: D>=C>=B=A
Topic: Chemistry-Section A
Item No: 76
Question ID: 1569476
Question Type: | MCQ

CHy— CHy— CN CH3MgBr Hy0" g _ Zo—Hg
Question: glgd HCI

¢ <l Adi wfgEtat g
A CH3- CHy- CH»- CHj3

0

B: ||

CH3- CHp- C- CHj

OH

C: I

CHj3- CHy- CH- CHy
D: CH3- CHp- CH=CH,
Topic: Chemistry-Section A
Item No: 77
Question ID: 1569477
Question Type: | MCQ




Joi K3 % fim
HE1 Het 11

A BEEE 66 1 &

B U WEFITHI®A 2 BLfgude o8 9938
Question:

3. SO WSS 58 I 9dA & T

D 7255 INBLCrS

Jot i3 fegmui fod 7dt €33 9

A: A-ITT, B-1. C-IV, D-II
B: A-IIL B-IV, C-1, D-II
C: A-IIL B-I. C-IV. D-III
D: A-IT. B-IV. C-1. D-II1
Topic: Chemistry-Section A
Item No: 78
Question ID: 1569478
Question Type: | MCQ

Question: ﬁ-ﬂ@ﬂ@Cl@B—m%CEﬁmwwwa
A: HBH

B Heldd

c S

D IS

Topic: Chemistry-Section A

Item No: 79

Question ID: 1569479

Question Type: | MCQ

I3 e I9 7] 3 93 Ak I8 1 1q Afed §3Uga < falgumiis Aq) 3

Question: ; fo 1_‘|_E[|T é T
A EﬁHMﬂEﬂT
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C: HATHEE Ad[t

D: Haudfed HdJ
Topic: Chemistry-Section A
Item No: 80

Question ID: 1569480

Question Type: | MCQ

Question: HiETeg GarHId R =93 9 wifzH fde 2wy 7w J fAae 9cs © 999
A: fagaatfes eax

B JeaATefsBd 2aH

C: Zlafga gan

D HEHATES 2TdH

Topic: Chemistry-Section B

Item No: 81

Question ID: 1569481

Question Type:

Numeric Answer

56.0 Bled AEIcHs diH § @'Y Ieians o e fimfas iz a=rd 320 L

Question: " e e )
WS 3 Uet 9ol J Inieedst aetens d @ruifess L 2fiper fap I

Topic: Chemistry-Section B

Item No: 82

Question ID: 1569482

Question Type:

Numeric Answer

e dv TuHd A< AHdE 2 dm® I 199 11 ¢ I7H YUS 9 Hge J 128 Hd

fEat g I ifea e Trdlt 1 T9™ 2 MPa 3 J <l Oc 2 3T
TUd B HA S A4t

Question: €59 333 yas via Fa fe§)
(37T R=8.3TK ! mol'l) C W3 H T UIHTH Id gHTT 12u M3 lu )
HE YUE I 9 wiedn Im <t 37 feegg 9o+t d

Topic: Chemistry-Section B
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Question ID: 1569483

Question Type:

Numeric Answer
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Question: Ju et duret @3HafmE Jotu urethndi gretur
Topic: Chemistry-Section B

Item No: 84

Question ID: 1569484

Question Type:

Numeric Answer

SISt YLl Fa% e fefonrgdt Jat fogTu§er )
HCl + NaOH — NaCl + H,O AH=-57.3 kI mol™!

Question: CH;COOH + NaOH — CH;3;COONa + H,0 AH=-55.3 kJ mol !
CH;COOH ! fefenaght @urar anl(farrs Sighare wisgsul nietalaas
kJ mol! T
Topic: Chemistry-Section B
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Question ID: 1569485

Question Type:

Numeric Answer

nHEs T feuds yad Il yf3iafonr I mifas wam v aes e A &8
600 K 3 3T famr d

<104

Slope = — 3.465

Question: In L]
[ pU)
t's
yHfafg Soaumy _ « 107 JI[E39 3 338 yda »ig 39 84)
Topic: Chemistry-Section B
Item No: 86
Question ID: 1569486

Question Type:

Numeric Answer

Question:

XeOj5. XeOF,, M3 XeF, €9 dwdt ugHen -3 9% 13 feare] gaH fesaarat
<1 Hitn Jl

Topic:

Chemistry-Section B
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87

Question ID:

1569487

Question Type:

Numeric Answer

ME™ nffest w1 i3 Afand &9
Cr37/CrET, M /Mn?™, Fe¥™/Fe?™ and Co37/Co?™ fie Wiad fedaes Uens

Question: i il s 5 ; b
fge3Ha J. @ Age Alug dadl HHe e BM JI(E39 3 438 yaa »ig
ECArY)

Topic: Chemistry-Section B

Item No: 88

Question ID: 1569488

Question Type:

Numeric Answer

4.5 mg WM&TS IS ) TEIE WEdas R-0H T 5HA HIETEIE HaaiHmH

Question: wfeGETe &9 Hfann famr YT 3w fagst w3 fedsr 9ad fermrwifess 3.1
ml BT fIMf (S TTE »B IS T w39 JfHHS I

Topic: Chemistry-Section B
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Question ID: 1569489

Question Type:

Numeric Answer
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AT BT 137 famfT W& da1 A, Ja1B

Question: W FHT 3 3.25 e, 2.08 em ¥13 1.05em JHET ol W IR I5IAS BT R
HSTTwgys Ji

Topic: Chemistry-Section B
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Question ID: 1569490

Question Type:
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